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e Question No. 1
In the following question, select the missing number from the given series.
1,3,7,13,7, 31
Options:

1.21

2.29
3.24
4.20

5.

Answer : 21

e Question No. 2

Select the figure that will replace the question mark (?) in the following figure series.
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(ITT

Options:

1.1
2.2
3.3
4.4

5.

Answer : 1

e Question No. 3

IfI0A5B6C2=53and6A4B8C2=28,then17A5B18C9=?

Options:
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1.91
2.87
3.95

4.90

Answer : 87

¢ Question No. 4
In the following question, select the related letters from the given alternatives.
CPO: ANM :: JWX:?
Options:

1. LER

2.RAA
3. YKA
4. HUV

5.

Answer : HUV

e Question No. 5

Which answer figure will complete the pattern in the question figure? (rotation is not allowed)

0(6
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y
2- i
3.
. N
Options:
1.1
2.2
3.3
4.4
5.
Answer : 1

e Question No. 6

Th RIAR B B: FGHIT X, Y, Z, U, V 3IR W TP ddIPR AT IR TH-GER B 31X 73 B 93 81 Z, W B 31 918 iR I3T ¢,
3RY, Z P I8 3R Y gER FATT W IST 81 X, U oS 3R A GFE HATH W ST &1 W 3R X ST T AfpedH TSIt i &?

Options:

1Y

2.U
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3.Z

4.V

Answer:V

e Question No.7

gig AfR P, B, C, G 3R H TP gadIbR AT P IR 3R BeR BT 3R 0 PP 90 &1 H, C B 31 &I 3R JoT 21 B, H B a1 3R
Q AR U W AT 81 P, C BT Afdbedd Uil 78t 81 P & 3l aT8 31R B JoT 87

Options:

1 H
2.G
3.C
4.B

5.

Answer : H

e Question No. 8
'A x BT 3R E'A, BB Ul &
'A+ B BI3RYE'A, BBTHIE &
'‘A+B ®I3RAE'A BB FET ¢
'A - B'BT3RY 2 A, B B UHT &
TISB X + Y + Z - AR X BT A T BT el 82
Options:

1.9
2. UdHT &7 HTE

3. ggTBruafl



4.MT8

Answer : TdH1 &I HTS

Question No. 9

Arrange the given words in the sequence in which they occur in the dictionary.
1. Lens

2. Lenient

3. Length

4. Lend

5. Lent

Options:

1.3,4,2,51
2.3,4,5,2,1
3.4,3,2,1,5
4.4,3,2,5,1

5.

Answer:4,3,2,1,5

Question No. 10

In the following question, select the missing number from the given series.
50, 52, 56, 64, 80, ?

Options:

1. 115

2.12

ixam
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3.120

4.130

Answer : 112

e Question No. M

Select the correct mirror image of the given figure when the mirror MN is placed to the right side of the figure.

M
AN
O
]
1
AN
B
2. -
AN
4.
Options:
1.1
2.2

3.3
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4.4

Answer: 3

e Question No. 12
In a certain code language, 'HEIGHT" is coded as 'FCGDEQ'. What is the code for 'METHOD' in that code language?
Options:

1. KCRELB

2. KCRFMB
3. KCREMA
4. KCRELA

5.

Answer : KCRELA

e Question No. 13

In the following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.
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- —=u

-

Options:

1.1

2.2
3.3
4.4

5.

Answer : 1

e Question No. 14

A series is given with one term missing. Select the correct alternative from the given ones that will complete the

series.
OP, ON, MN, ML, ?

Options:
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1. KL
2. KR
3.KQ

4. KM

Answer : KL

Direction:

AfFAeTRafd qR[ A BB B 3R 39 B2AT B TR TR BB AP GfC 7T 2| TUD! ST T BYAT B Jqd HFAT &, dTe o
HHAI: S1Td d@l & HIAT TRdld E1d &1 Ht ASBNT B YR-hTRaD USiT 3R ARER BIsC Bbf Gt 7T AT # & BIH-
T AMBRY B2AT BT dRebids T A 3TER0T BT 2|

e Question No.15

277?
l.pTS A, BAst 2l

Il. BB B, P&l

2?777777:

. BB B, ATEl 8l
Il. BB P, ATE €I
Options:

1. B1E Ht AR 2T BT ATEROT Tt il &
2. B AYBI | BAT BT 3ERVT BT 8
3. BT B || BUAT BT 3AR0T BT 8
4. AR | 3R || ST AT BT HTHT R &

5.

Answer : Bde AYBIY | BUAT BT ARV BT 8

e Question No. 16
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Select the option that is related to the third word in the same way as the second word is related to the first word.
Detective: Clues :: Scientist:?
Options:

1. Experiments
2. Dance

3. Paintings

4. Songs

5.

Answer : Experiments

e Question No. 17
In a certain code language, RING' is coded as 'UMQK'. What is the code for 'SAFE' in that code language?
Options:

1. VEII

2. VEU
3. VEJJ
4. VFIT

5.

Answer : VEII

e Question No.18

From the given option figures, select the one in which the question figure is hidden/embedded. (Rotation is NOT

allowed)
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X

N

Options:

Answer: 2

e Question No.19

Which of the following groups of letters when sequentially placed from left to right will complete the given

series?

aaaa_ bbbbbaaaa_ bbbbb_ aa_abbbbbaaaaabbbbb
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Options:

1. bbaa
2. aaaa
3. abab
4. bbbb

5.

Answer : aaaa

e Question No. 20

By Interchanging the given two numbers (not digits) which of the following equation will be not correct?

7 and 3
Options:

1.9%x7+3-4+2=32
2.8+2+9%x3-7=64
3.7+3%x8-8+2=55
4.7x8-9+3+1=30

5.

Answer:7x8-9+3+1=30

e Question No. 21
AR T W, AR # & BI-H1 7 "B BT &R 82
Options:

1. 207d
2.8
3.3
4.dR

5.

0(6
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Answer : 3 X

e Question No. 22

"The State shall take steps to separate the judiciary from the executive in the public services of the State." This is

mentioned under ______ of Constitution of India.

Options:

1. PartV
2. Part IV
3. Part Il
4. PartIV A

5.

Answer : Part IV

e Question No. 23

What is the literacy rate among males in India according to the Literacy Rate 2011 census?
Options:

1. 65.46%
2.39.3%

3.74.04%
4.8214%

5.

Answer : 82.14%

e Question No. 24

The term 'Dhamma’ is the Prakrit word that is associated with which of the following rulers of ancient India?

Options:
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1. Chandragupta ll
2. Rudradaman

3. Raja Raja Chola |
4. Ashoka

5.

Answer : Ashoka

e Question No. 25

77th Independence Day was celebrated in which of the year?
Options:

1.2023
2.2021
3.2022
4.2020

5.

Answer : 2023

e Question No. 26

The Directive Principles of State Policy in the Indian Constitution are primarily aimed at achieving:

Options:

1. Economic inequality

2. Social and economic justice
3. Religious harmony

4. Political stability

5.

Answer : Social and economic justice

0(6
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e Question No. 27
The social reformer Raja Ram Mohan Roy is associated with which socio-religious reform movement in India?
Options:

1. Swaminarayan Movement
2. Theosophical Society

3. Arya Samaj

4. Brahmo Samaj

5.

Answer : Brahmo Samaj

e Question No. 28
Which artists have won the Sangeet Natak Akademi Award for contribution to Chhau dance of Seraikella?
Options:

1. Tapan Kumar Pattanayak
2. Diwan Sing Bajeli

3. Narendra Sing Negi

4. Jatin Goswami

5.

Answer : Tapan Kumar Pattanayak

e Question No. 29
Read the following about Green Revolution.
A. The Green Revolution was an endeavour initiated by Norman Borlaug in the 1960s.
B. He is known as the 'Father of Green Revolution' in the world. Identify the CORRECT statement/statements.

Options:
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1.Both Aand B
2.0nly A

3. Neither A nor B
4.0nly B

5.

Answer : Both A and B

¢ Question No. 30
Who has been appointed as the chairman of MasterCard India from September 20237
Options:

1. Narendra Singh
2.S.A. Panse

3. Rajnish Kumar
4. Sanjiv Misra

5.

Answer : Rajnish Kumar

e Question No. 31

The Prime Minister Shri Narendra Modi launched 'Mera Yuva Bharat (MY Bharat) platform for youth of the country

on October 31st 2023, at Kartavya Path on the National

Options:

1. Unity

2. Health
3. Sports
4. Youth

5.

Answer : Unity
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e Question No. 32

The Socio-Economic and Caste Census (SECC) 2011 conducted by the government of India ranked households in

how many categories?
Options:

1. Five
2. Six

3. Three
4. Four

5.

Answer : Three

e Question No. 33

STq Tdb RICe B! BT H 3l 3341 571dT 8, ddl dfeiral & Uiy Hte aRieft biRe & Rl R Tab rbdfiTett 3eRas 2Me (overhand
shot) TPTH &7 THA ElaT 81 38 @ ATH I 5THT 7TaT 81

Options:

1. 7T Tt (Long service)
2.3 (Rally)

3. *IRC TAfH (Short service)
4. AR (Smash)

5.

Answer : A2 (Smash)

e Question No. 34
Read the following about the Revenue expenditure.

A. Revenue Expenditure is expenditure incurred for purposes other than the creation of physical or financial assets

of the central government.
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B. It relates to those expenses incurred for the normal functioning of the government departments and various
services, interest payments on debt incurred by the government, and grants given to state governments and other
parties (even though some of the grants may be meant for creation of assets). Identify the INCORRECT

statement/statements.
Options:

1.Only A

2. Neither A nor B
3.0nlyB

4.Both A and B

5.

Answer : Neither A nor B

e Question No. 35
Who of the following singer popularized the Sambalpuri folk song 'Rangabati Rangabati'?
Options:

1. Sunidhi Chauhan
2. Krishna Patel

3. Jonita Gandhi
4.Vani Jairam

5.

Answer : Krishna Patel

e Question No. 36

_______ of a substance is the temperature and pressure at which three phases (gas, liquid, and solid) of that

substance may coexist in thermodynamic equilibrium.
Options:

1. Allotropic



2. Triple-point
3. Tri-state
4. Amphibious

5.

Answer : Triple-point

e Question No. 37
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During eighth Five year plan, India became a member of the World Trade Organization on 1 January

Options:

1.1948
2.1978
3.1998
4.1995

5.

Answer : 1995

e Question No. 38

Pool swimming at the Olympic Games takes place inside a

eight lanes.
Options:

1.75
2.50
3.100
4.25

5.

Answer : 50

meter-long swimming pool divided into
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e Question No. 39
Which of the following won the maximum number of gold medals in the National Games 2023?
Options:

1. Haryana

2. Services

3. Madhya Pradesh
4. Maharashtra

5.

Answer : Maharashtra

e Question No. 40

fdeR 2023 #, T cRY B BRABIA & Al UH T 3110 31T & AfGIdb HSd (Press Trust of India's Board of Directors)
D 3TE[RY P {T § B AT IRT 8?

Options:

1. BT, Aid BAR
2. T, off. RTHH BAR

3. ERAASH T, BTHT
4. HEex AYgd 1T
5.

Answer : B, 2fd BAR

e Question No. 41

20 TS B TP HHE B 3 31 25 ok 1 15 IR B! 317 dTell U gl HHE BIS Cdl 21 Tdb 7T 6igeh] GHg | ATHfeT Erar
2 3R THE B 314d 311G 2 <RY ¢ STdT 81 7T A5 PI 1Y BicT 82

Options:

1.50 TR
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2.57 Ry
3.52 Y

4,55 R

Answer : 50 9§

e Question No. 42

The marked price of a cycle is Rs. 2700. If 10 percent discount is given, then what will be the selling price of the

cycle?
Options:

1. Rs. 2430
2.Rs. 2500
3.Rs. 2400
4.Rs. 2560

5.

Answer : Rs. 2430

e Question No. 43

Anil and Karan together can do a work in 20 days. Karan and Himanshu together can do the same work in 25 days.

Himanshu and Anil together can do the same work in 50 days. In how many days can Himanshu alone do the same

work?
Options:

1. 240 days
2.180 days
3. 250 days
4.200 days

5.

Answer : 200 days



e Question No. 44
What is the value of 404 +2 - 1008 + 4 + 5 x 5?
Options:

1.-25
2.-15
3.-18
4.-22

5.

Answer : =25

e Question No. 45
Find the HCF of 84, 126, and 168.
Options:

1.44
2.49
3.40
4.42

5.

Answer: 42

e Question No. 46

T 37ebel Tep BIH DT 90 ST W GRT B FebdT &1 38T &BTH BT 20 TRARId WIT Bfd SfHT # QT BITT?
Options:

121
2.20cH
3.18cfH

ixam
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4.7gfF

Answer : 18 €7

e Question No. 47

The cost of diamond is directly proportional to the square of its weight. The cost of diamond is Rs. 87880. It break

into two pieces whose weight are in the ratio of 5: 8. What is the loss incurred because of the breakage?
Options:

1. Rs. 41600
2.Rs. 32600
3.Rs. 52600
4. Rs. 36400

5.

Answer : Rs. 41600

e Question No. 48
An article is sold for Rs. 4400 at a loss of 20 percent. What is the cost price of the article?
Options:

1. Rs. 5500
2. Rs. 5000
3.Rs. 5200
4.Rs. 6200

5.

Answer : Rs. 5500

e Question No. 49

Rs. 9900 is divided among X. Y and Z in the ratio of 7: 12 : 14 respectively. What is the share of Y?
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Options:

1. Rs. 900

2.Rs. 3600
3.Rs. 2100
4.Rs. 4200

5.

Answer : Rs. 3600

e Question No. 50
Which of the following number is divisible by 4?
Options:

1.1734

2.2342
3.4348
4.1570

5.

Answer : 4348

e Question No. 51

An item is sold for Rs. 4964 after two successive discounts of 30 percent and 10 percent. What is the marked price

of the article?
Options:

1. Rs.7200.47
2.Rs. 787936
3.Rs.7120.46
4. Rs. 6600

5.
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Answer : Rs. 7879.36

e Question No. 52

In a class of 40 students, 30 are girls. What is the percentage of boys in the class?
Options:

1.18%
2.25%
3.13%
4.24%

5.

Answer : 25%

e Question No. 53

The radius of a hemisphere is 3.5 cm. What will be its volume?
Options:

1.79.24 cm®
2.89.83 cm?
3.62.38 cm?
4,98.89 cm®

5.

Answer : 89.83 cm®

e Question No. 54

In a group of 22 men, two men whose average age is 58 years are replaced by two new men. If the average age of

the group decreases by 2 years, then what is the average age of two new men?

Options:
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1.37 years
2.32 years
3.35 years
4. 36 years

5.

Answer : 36 years

e Question No. 55

The compound interest (compounding half yearly) received on Rs. 2200 for 1.5 years is Rs. 3836.8 What is the rate of

interest per annum?
Options:

1. 65 percent
2. 60 percent
3.80 percent
4.75 percent

5.

Answer : 80 percent

e Question No. 56

The value of a car depreciates at the rate of 50 percent per annum. If its present value is Rs. 75000, then what was

the value of the car 3 years ago?
Options:

1. Rs. 750000
2. Rs. 450000
3. Rs. 600000
4. Rs. 300000

5.

Answer : Rs. 600000
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e Question No. 57

Aman goes to his office by car at the speed of 80 km/hr and reaches 10 minutes earlier. If he goes at the speed 30

km/hr. then he reaches 10 minutes late. What will be the speed of the car to reach on time?
Options:

1. 480/11 km/hr
2.240/6 km/hr
3.450/7 km/hr
4.480/13 km/hr

5.

Answer : 480/11 km/hr

e Question No. 59
The Least Common Multiple of two prime numbers x and y, (x
Options:

1.32
2.30
3.38
4.40

5.

Answer : 32

e Question No. 59

The difference between simple interest on a certain sum at the annual rate of 11 percent for 8 years and 9 years is

Rs.132. What is the sum?
Options:

1. Rs. 1300
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2.Rs. 1450
3.Rs. 1100
4.Rs. 1200

5.

Answer : Rs. 1200

e Question No. 60

A person bought an article and sold it at a loss of 10 percent. If he had bought it for 30 percent less price and sold it

for Rs. 20 more, then he would eam a profit of 40 percent. What is the cost price of the article?
Options:

1. Rs. 250
2.Rs. 200
3. Rs. 300
4.Rs. 350

5.

Answer : Rs. 250

e Question No. 61
Choose the word that means the same as the given word.
Followed
Options:

1. Transgressed
2. Obeyed

3. Claimed

4. Disobliged

5.

Answer : Transgressed



e Question No. 62

Select the sentence with no spelling errors.
Options:

1. 1 have spent a good bit of my career arguing for the virtues of solitude.
2.1 have spent a good bit of my career argueing for the virtues of solitude.
3.1 have spent a good bit of my career arguing for the virtues of soletude.

4.1 have spent a good bit of my carier arguing for the virtus of solitude.

5.

Answer : | have spent a good bit of my career arguing for the virtues of solitude.

Direction:

Find the part of the given sentence that has an error in it. If there is no error, choose 'No error'.

e Question No. 63

Rashi solved the problem in just 2 minutes; no doubt, she is the smarter of all.
Options:

1. she is the smarter of all

2. Rashi solved the problem in
3. just 2 minutes; no doubt
4.No errol

5.
Answer : she is the smarter of all
Direction:
Select the most appropriate option for the given blank.
e Question No. 64

My brother has missing.

ixam
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Options:

1. set
2.done
3.gone
4. moved

5.
Answer : gone
Direction:
Select the most appropriate option for the given blank.
Question No. 65

Some people are trouble in our neighbourhood.

Options:

1. baking

2. causing
3. sinking
4. pouring

5.
Answer : causing

Direction:

Improve the bold part of the sentence. Choose "No improvement' as an answer if the sentence is grammatically
correct.

Question No. 66

We have to face frequently flood and droughts.

Options:
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1. No improvement
2. frequenter flood
3. frequently floods
4. frequent floods

5.

Answer : frequent floods

Question No. 67

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the

sentence meaningfully. Select the option 'no correction required' if the sentence is correct as given.
(Even though rebel chieftains of the) Marathas and Sikhs recognised the Mughal emperor as the supreme authority.
Options:

1. Also rebel chieftains of those

2. Included rebel chieftains of that
3. No correction required

4. Even rebel chieftains of the

5.
Answer : Even rebel chieftains of the

Direction:

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Question No. 68

To sit at someone's feet

Options:

1. To attend upon as someone's disciple

2. To wash someone's feet
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3. To be someone's equal
4.To be proud of someone

5.
Answer : To attend upon as someone&#039;s disciple
Direction:
Choose the most appropriate antonym of the bold word.
Question No. 69

Zakir is a fearless and impetuous fighter, a former Guantanamo prisoner who earned a reputation for brutality on

the battlefield.
Options:

1. eager

2. fierce

3. restive
4. cautious

5.
Answer : cautious
Direction:
Find the part of the given sentence that has an error in it. If there is no error, choose 'No error'.
Question No. 70
Kids are always watching what you do and ignore what you says.
Options:

1. Kids are always watching
2.No erroll
3. what you says.

4. what you do and ignore
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Answer : what you says.

Direction:

Find the part of the given sentence that has an error in it. If there is no error, choose "No error'.
Question No. 71

Neither of her cousins is readily to try their luck in this game.

Options:

1. No errol]

2. Neither of her cousins is
3. luck in this game.

4. readily to try their

5.
Answer : readily to try their
Direction:
Select the incorrectly spelt word from the given sentence.
Question No. 72

A tool designed for an innocuous purpose can be easily used for the same function but with a far different

aplication in mind.
Options:

1. Innocuous
2. Function

3. Aplication
4. Designed

5.

Answer : Aplication

0(6
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Direction:

Improve the bold part of the sentence. Choose "No improvement as an answer if the sentence is grammatically
correct.

Question No. 73

If the rained continues the river might flood.

Options:

1. rain continues

2. rain were continues
3. No improvement

4. rains continues

5.
Answer : rain continues
Direction:
Choose the idiom/phrase that can substitute the bold group of words meaningfully.
Question No. 74
Everyone around me hasignored my plea.
Options:

1. Let the cat out of the bag
2. Turn a deaf ear

3. Spill the beans

4. Twist my arm

5.
Answer : Turn a deaf ear

Direction:

Select the most appropriate option for the given blank.
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e Question No. 75
She for hours while the train rolled on.
Options:

1. had slumber

2. slumbered

3. slumbers

4. has slumbered

5.
Answer : slumbered

Direction:
Read the passage car efully and select the correct answer for the given blanksout of the four alternatives.

The two, Sudama and Krishna, were (1) .To date, their oneness is an example of true friendship ahead of the

planet. This is often the rationale why they are remembered (2) the auspicious day of Friendship.

Even after losing touch for several years after finishing their studies together, they did not (3) the hope of

meeting again. Sudama always had lord Krishna in his heart and soul and kept (4) of him until they met

again.

The entire incident when Sudama met Krishna after numerous years is so (5) and unforgettable.

e Question No. 76
Select the most appropriate option for blank (1)
Options:

1. irrevocable
2. inked

3. inseparable
4. insignificant

5.
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Answer : inseparable

Direction:
Read the passage car efully and select the correct answer for the given blanksout of the four alter natives.

The two, Sudama and Krishna, were (1) .To date, their oneness is an example of true friendship ahead of the

planet. This is often the rationale why they are remembered (2) the auspicious day of Friendship.

Even after losing touch for several years after finishing their studies together, they did not (3) the hope of

meeting again. Sudama always had lord Krishna in his heart and soul and kept (4) of him until they met

again.

The entire incident when Sudama met Krishna after numerous years is so (5) and unforgettable.

Question No. 77
Select the most appropriate option for blank (2)
Options:

1. at

2.0n

Answer : on

Direction:
Read the passage car efully and select the correct answer for the given blanksout of the four alter natives.

The two, Sudama and Krishna, were (1) .To date, their oneness is an example of true friendship ahead of the

planet. This is often the rationale why they are remembered (2) the auspicious day of Friendship.

Even after losing touch for several years after finishing their studies together, they did not (3) the hope of

meeting again. Sudama always had lord Krishna in his heart and soul and kept (4) of him until they met

again.

The entire incident when Sudama met Krishna after numerous years is so (5) and unforgettable.
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e Question No.78
Select the most appropriate option for blank (3)
Options:

1. leaving
2. leave
3. leaves
4. left

5.
Answer : leave

Direction:
Read the passage car efully and select the correct answer for the given blanksout of the four alternatives.

The two, Sudama and Krishna, were (1) .To date, their oneness is an example of true friendship ahead of the

planet. This is often the rationale why they are remembered (2) the auspicious day of Friendship.

Even after losing touch for several years after finishing their studies together, they did not (3) the hope of

meeting again. Sudama always had lord Krishna in his heart and soul and kept (4) of him until they met

again.

The entire incident when Sudama met Krishna after numerous years is so (5) and unforgettable.

e Question No. 79
Select the most appropriate option for blank (4)
Options:

1. waiting

2. inspecting
3. thinking
4. sinking

5.
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Answer : thinking

Direction:
Read the passage car efully and select the correct answer for the given blanksout of the four alter natives.

The two, Sudama and Krishna, were (1) .To date, their oneness is an example of true friendship ahead of the

planet. This is often the rationale why they are remembered (2) the auspicious day of Friendship.

Even after losing touch for several years after finishing their studies together, they did not (3) the hope of

meeting again. Sudama always had lord Krishna in his heart and soul and kept (4) of him until they met

again.

The entire incident when Sudama met Krishna after numerous years is so (5) and unforgettable.

e Question No. 80
Select the most appropriate option for blank (5)
Options:

1. collective
2. tormenting
3. touching
4. gruelling

5.

Answer : touching
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